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B 3222Z 5kg...400kg
W AETH: 210mmO...420mm]
Hs s

B AHAH MO =S

| 24 BE;
9483 AMUAS FEEE 2mV/VE1%
pLPV -] S
- S| ABEIAIA £0.05%R.0.
| i = +0.025%R.0.
| 21000 | A 210XB 210X H 21 _C 200, D 17 2= ME 02 | +0.05%R.0.
i J50L) | A250%B 250 H 21 C 240, D 17 [20L..100L] oIoba o 1oV
; A 250X B 250 H 31 C 240, D 24_[200L. 400L] EEREEE, 30v
] A 260X B 260 H 21 C 250, D 17 [20L...100L] FETEES +5%R.0.
i 260 |"A 260 B 260 H 31 _C 250, D 24 [200L...400L] U= oAt Mg | 8002 £ 102
: 30000 | A 300XB 300X H 31 _C 290, D 24 £% Oxjzt Ma | 700950
i 33500 | A 335%B 335X H 31 C 325, D 24 EERE] 1000M 254 E (B/E DC50V)
: A 420X B 420%H 34 C 410, D 28 [50L._200L] S5 =4 #H9 | —10C~+50C
: 420 24208 420X H 35 C 410, D 28 _[300L, 400L] 58 & W9l | —100-+60C
5L | 5kg (2100]) ¥Ho 2= ¥& | 10.005%R.0./C
10L | 10kg (21001) £ 2k ¥& | £0.005%LOAD/T
20L | 20kg (21007...33500) 58 st 150%R.C.
50L | 50kg (21001...4200) Aol = 95,44 4 A0E, BB g
100L_| 100kg (210C1...4200))
200 | 200kg (25001...4200)) Ao1E Zo| 5m
300L | 300kg (25007...42000) =5 A ot2kg: [2100]]
400L_| 400kg (250C1...4200)) o2 5kg: [20L...100L~250L]]
o3 5kg: [200L...400L ~2500]
o3kg: [20L....100L ~2600]]
I 0| = HHAM A4A 9F4kg: [200L...400L—2600]]
ot5kg: [30001]
= My 216.5kg:[3350]
97k Fe+ | RED oH 2kg: [420L]]
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